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Jelek szűrése

• Átlagolás

>> a=[1 3 5 7 9]

a =

1     3     5     7     9

>> mean(a)

ans =

5



Jelek szűrése

• Átlagolás
a =

0.3852    0.8565    0.9225    0.2568    0.5783

>> mean(a)

ans =

0.5999



Jelek szűrése

• Medián
a =

0.3852    0.8565    0.9225    0.2568    0.5783

>> median(a)

ans =

0.5783



Csúszó ablak

tt - 1t - 2…

„Nyers” érték

Szűrt érték



Alapjel



Alapjel

x=[-pi:0.01:pi];

y= sin(x);

plot(x,y);

grid;



Plot tulajdonságok
plot(x,y,'-');

plot(x,y,'.');

plot(x,y,'+');

plot(x,y,'*');

plot(x,y,'- ');

plot(x,y,'--');

plot(x,y,'-+');

plot(x,y,'-*');

plot(x,y,'-o');

plot(x,y,'-s');

plot(x,y,'--o');

plot(x,y,'--s');



Plot tulajdonságok
plot(x,y,'-+r');

plot(x,y,'-+g');

plot(x,y,'-+b');

plot(x,y,'-+k');

plot(x,y,'-+k', 'LineWidth',2);

plot(x,y,'-ko', 'LineWidth',2,'MarkerEdgeColor','k',

'MarkerFaceColor','g','MarkerSize',10)



Zaj

x=[-pi:0.01:pi];
y= sin(x);
plot(x,y);
grid;

??? 



Zaj

x=[-pi:0.01:pi];
y= sin(x);
plot(x,y);
grid;

y2=0;
for i=1:length(x)

y2(i)=sin(x(i))+(rand(1)-0.5)/4;
end
hold on;
plot(x,y2,' .r');



Csúszóablakos szűrés



Csúszóablakos szűrés

windowsize=5;
slidewindow=ones(1,windowsize)*y2(1);
y2_filtered=0;

for i=1:length(y2)

end;

plot(x,y,'-') 
hold on;
plot(x,y2_filtered,'-k');



Csúszóablakos szűrés

windowsize=5;
slidewindow=ones(1,windowsize)*y2(1);
y2_filtered=0;

for i=1:length(y2)
y2_filtered(i)=mean(slidewindow);
%y2_filtered(i)=median(slidewindow);
for j=1:length(slidewindow)-1

slidewindow(j)=slidewindow(j+1);
end;
slidewindow(length(slidewindow))=y2(i);

end;

plot(x,y,'-') 
hold on;
plot(x,y2_filtered,'-k');


